S.No. 1246 | 08 USTA 11

(For the candidates admitted from 2008-2009 onwards)

B.B.A. DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2011.

Second Semester

Allied — BUSINESS MATHEMATICS AND
STATISTICS - II

Time : Three hours Maximum : 756 marks

PART A — (10 x 2 = 20 marks)
Answer ALL questions.
All questions carry equal marks.

Write short note on :

1.  Simple interest.

safl Uiy

2.  Sinking fund.
By Bl



10.

Left-hand limit.

@LL'JLJ&'E&; GTEUENED.

Maxima.

BuiGuyeray.

Scatter diagram.

Spned eferdsiLLb.

Regression Analysis.

SenarenL_ay LIGLLITLIGY.

Time Series.

_ gmeold &miT euiflena.

Secular trend.

grider CUITEE.

Characteristics of Indek Numbers.

SN QL _arentlein Femenioae.

Cost of living index number.
aumpsems QFae| @Ol G awr.

2
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11

12,

(a)

(b)

(a)

(b)

PART B — (5 x 5 = 25 marks)
Answer ALL questions.
All questions carry equal marks.

Calculate the compound interest. _for
Rs. 2,500 for 4 years at 8% per annum.

m. 2.500-6@¢ @mehHE 8 speldlgsllpsaran
4 o sEpsENL sl () euligemus STams.
Or

The banker’s discoﬁnt is ‘51 times the

banker’s gain. Find the term of the b111 if
inferest is 8% p.a.

@ mré.uﬂu..lrrm:ﬂm @eomud et eflss
getErLgew el 51 ukig @b iy 8%
ararfleb &iTey DeTEnNEUS STEHTS.

If y=¢*, then what is dy/dx?

y =e*aafler dy/dx -én L sreTs.
' Or

Find the elasticity of supply from the supply
function p=-2+5x.

p=-2 +5x GTe GULPTEIGE @EWICLITL 1q.681 (LPGILD
auLpmIGElen CBEIDSEMEnLOEMILIS STeRTs.

3 S.No. 1246



-13.

(a)

(b)

D (x-10) =180,

Calculate correlation coefficient from the
following data :

N =10, Y X =140, Y Y =150,

> (¥ -15F =215 ;
D (X -10fY -15)=60.

Epssam_  dlurhiseiies Qops FLODS
GassHeaneas sreEs.
N=10, Y X=140,
> (X -10f =180,

Y (v -15) =215 ;

- Y (x-10)fy -15)=60.

Or

Calculate the two regression equations from
the following data : '

X: 10 12 13 12 16 15
Y: 40 38 43 45 37 43
&gpézessdHL

aflugiisefiieo  @QmHzH  @rew®

Slenenent_6| FLOGUT(HSMETS HTEHS ().

PG B R e PR
Y: 40 38 43 45 37 43
& S.No. 1246

Y Y-150, |

14. (a) Find the trend line by the method of least

squares. ;
Year : 2005 2006°* 2007 2008 2009

Sales (000): 100 120 140 160 180
B&fp eurés epenpers Qs G;ﬁff@&rrl.’.@
Curnées Cam_ymens sansd(Hs.

QU(HLLD : 2005 2006 2007 2008 2009
opuener (000): 100 120 140 160 180

Or

(b) Fit a straight line trend to the following time
series.

2003 2004 2005 2006 2007 2008
Sales(000): 72 75 74 78 83 82

Year :

lﬁ]ehm@fn srowsnt  aflosse Cprsm_Gu
CursEs Cam_iypmand saréd (s,
GU(HLLD :

2003 2004 2005 2006 2007 2008
ofpueer (000): 72 75 74 78 83 82

5 S.No. 1246



15.

(a)

(b)

From the following data construct an index

number for 2010 taking 2009 as base :
A VB G DR

50 40 80 110 20
70 60 90 120 20

Commodities :
Price in 2009 (Rs.) :
Price in 2010 (Rs.) :
Spsaam  efluphiseiid @mbs, 2009 eyib
e glinenwnss Gasram® 2010 b
<2aTq DEmar GHluiLClLerenenT srams.

A Boi@Q Dy B
2009-& efenev (@m.) 50 40 80 110 20

QummL_ger :

2010-6 efleva (@5.) 70 60 90 120 20

Or

_Calculéte the cost of living index number
form the following data :

Item Base year Current year Weight
price price
Food 39 47 4
Fuel 8 12 1
Clothing 14 18 3
House rent 12 15 2
Miscella'nequs 25 30 1
6 S.No. 1246

Spssen eluphisaldphs ampsms CQewe)
GO QL_cinanentés sanrsdl Hs.

Quimmer g LiumLwren® elowe Hapaurar® slme oere
o GwTay 39 47 4
I erf@uimmer 8 : 12 1
I oL 14 : 18 3
| 5@ eun_ena 12 15 2
Qa7 Qsaa). 25 _ 30 1

16. (a)

(b)

(1)

(<=2p)

The

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

All questions carry equal marks.

difference between the compound
interest and the simple interest for 3 years
at 5% p.a. on a certain sum of money was
Rs. 610. Find the sum.

The banker’s gain on a sum due 10 months
hence at 6% p.a. is Rs. 25. Find the sum due.

Qm Qsras 3 HITOSEHES 5% . euBLTHET
aly Sigliuouda g sal( wHpd seafl
ailgseflan efgHunan @. 610 G0 SiHsH
QBreansemLIs STEHTS.

e amdureise 6% amTHEr autigudléd
10 wngtisai . 25 sabpe grms daL &G
arafled o156 QFTEnGMWIS STEHTE.

7 S.No. 1246
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18.

The total cost function of a firm is given by
C =0.04x® - 0.9x% +10x +10. :

Find
(a) Average cost and Marginal cost and

(b) Value of x at which average variable cost is
minimum,

@ Hpoagdar Qurss LEs  swearuT
C=0.04x" - 0.9x? +10x +10 arafléd

(<=1) agmafl PO FWBHFH QFaway

(<=3) ‘EIIF[EIﬂ wryb QFve| Gmneuns 2 erer CUTg) x-6

SIS &TaTs.

Compute the coefficient of correlation between
X-Advertisement Expenditure and Y-Sales.

b, LI £ 6 T 1D .18 8 ' 13 . 20 22. 1_5 e B
Y: 88 90 94 86 87 92 96 94 88 85
X-an  eflembuy Qeewey wpmd  Y-elpuamen

S Eweupdn@E @en_Cuwiren @L(Hmeysd
GaasSmens sanssl (s,

Xv 1013298 - 813 <20 29 1k br T
Y: 88 90 94 86 87 92 96 94 88 85

8 S.No. 1246

19. Calculate the seasonal indices from the following

data :
Quarters 2005 2006 2007 2008 2009
/0 30 33 42 56 67
4 QA b (R R R e ) |

I 62 86 99 129 136
v 119 171 221 335 302

Geraumb  eNaurhisErsg UBuaTe GHOsamer

sassl (s,
sreorarBaesr 2005 2006 2007 2008 2009
I 30 33 42 56 67
I 81 104 133 172 201
I 62 86 99 129" -136
A% 119571 2247, 385 302,

20. From the following data construct index number

by using -

(a) Laspeyre’s method,
(b) Paache’s method and
(¢) Fisher’s method.

Item Price Quantity
Base Year Current Year Base Year Current Year
A 6 10 , 50 50
B 2 100 120
(6 4 6 60 60
D 10 12 30 25

9 S.No. 1246



Guimgmer eflanay

BN o oo . e

Sipsaetr fupiseldmps eflenevd
@i CL_arenent Geneumd apenpsafley Hamsdl(Ha.
(=) emrevlwr pam
(@) urdic gwenp
(@) Gegflan apanp.

; SiaTay

SgluenLwinegm(® Bapeunanr® Sigluewran® Hapourer®

6 10 50 50
2 2 100 120
4 6 60 60
10 12 30 25

10 S.No. 1246



(6 pages)
S.No. 4580 CSS

(For the candidates admitted from 2003—2004 onwards)

B.B.A./B.B.A. (CA) DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2011.

Second Semester
Allied - QUANTITATIVE TECHNIQUES — I1
Time : Three hours Maximum : 100 marks
SECTION A — (10 x 3 = 30 marks)
Answer ALL the questions.

1. (a) Define Iconic and Analogue Model.
(b) What are the different phases of OR?
(¢) Define slack and surplus variable.
(d) Write the canonical form of LPP.

(e) = What are the methods used to find Initial .

basic teasible solution.
(f)  Define the degenerate solution.

(g) Define the saddle point and value of the
game.

(h)

(1)

G

Determine which of the following two person
zero sum games are strictly determinable
and fair. .

Player B

5 0
Player A { } :
0 2

Define Total float, Free float and
independent float.

Define optimistic, pessimistic and most likely
time.

SECTION B — (5 x 6 = 30 marks)

Answer any FIVE questions.

Explain the various types of models in OR.

Use graphical method to solve the LPP

Maximize Z =2x, +4x,
STC x, +2x, <5
X1+ XSO,

X %= U

2 S.No. 4580



4,

Obtain an IBFS to the following transportation
problem using NWC rule :

D Bl G  Supply
A Tl 13 17 4 250

165 18 14210 300
C 1 e e P 1) 400

Demand 200 225 275 250

Solve the assignment problem
L5239

A 18 24 28 32
e e e

C 10 15 19 22

Solve the following 2 x 2 game graphically
B B, B, B,

3 S.No. 4580

Solve the following game wusing dominance
property

Player B

> W w
DO W o

Player A

O > B W
& © B O

0 4

Construct the network diagram and critical path
for the project.

- A<B,C,D; B<E; C<F; D<G; E<F; F<G

Activity - A B C D E F G-
Durationindays 3 6 16 10 8 5 3

SECTION C — (2 x 20 = 40 marks)
~ Answer any TWO questions.

Use Simplex method to solve the LLPP
Maximize Z =4x, +10x,
STC 2x; +x, <50
" 20, +5x, <100
2%, +3x, <90,

Xy gz (),

4 ~ S.No. 4580
[P.T.0]



10.

1%

Obtain an optimum basic feasible solution to the
following transportation problem

Supply
21" 167 P53l 1)
718 A fagils 13
30 9718 41| 19
Demand 6 10 12 15

Construct the network for the project whose
activities and the three time estimates of these
activities are given below. Compute

(a) Expected duration of each activity
(b) Expected variance of each activity

(¢) Expected variance of the project length
Aetivity' £, L. 't

ri iy
1=l 3 46
930 €5 g
ggsl . b g
A e
Ao g
A HY 8 SEa
BT e B
b BT

5 S.No. 4580

©

Cajliife o S (DU o))

Activity  t, £,
7-8 2 4
7-9 [ S

8-10 4 6
910 3 5
6

S.No. 4580



(6 pages) ™

S.No. 1372 06 USTA 11

(For the candidates admitted from 2006-2007 onwards)

B.B.A. DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2011.

Second Se:_nester
BUSINESS MATHEMATICS AND STATISTICS — 11
Time : Three hours Maximum : 100 markg
PART A — (10 x 2 = 20 marks)
Answer ALL questions.

1.  Write short note on Face value.
9. What is true discount?
3. What is differentiation?
4.  What is meant by Integration?
5.  What is correlation?

6. What is meant by multiple correlation?

10.

11.

12

What dé you mean by time series?
Write short notes on irregular variations.
Mention any two uses of Index numbers.
What is meant by a cost of living Index number?
PART B — (5 x 4 = 20 marks)
- Answer ALL questions.

(a) Find the compound interest on Rs, 20,000 for
5 years at 20% p.a. What will be the simple
interest in the above case?

Or

() Find the simple interest on the sum of
Rs. 6,000 at 10% p.a. for 3 years.

() Find the derivate of 5 X°.

Or

(b) Differentiate v2x + .

2 S.No. 1372



13, (a)

()
14, (a)
(b)
5. @)

(b) What are the steps in the construction of cost

What is Regression? What are difference
between correlation and regression?

Or
Find the rank correlation co-efficient :
P e L e i SR
Y: 47 40 37 42 4
What are the methods to estimate the
secular trend?
Or
What are the methods are used to estimate
- the seasonal variations?
Calculate Fisher's Ideal Iﬁdex Number :
Commodity 1990 1995
Price Qty Price Qty
Rs. Rs.
A 2 74 3 82
B 5" 125 4 140
C 7 40 6 33
Or

of living index number?

3 S.No. 1372

16.

1.

(a)

(b)

(@)

(b)

PART C — (5 x 12 = 60 marks)

Answer ALL questions.

Find the Bankers discount (BD) True
Discount (TD). Banker's gain on a bill of
Rs. 7,800 for 8 months at 6% p.a.

Or.

What is the actual rate of interest which a
banker gets for the money when he discounts
a bill legally due in 6 months at 5% p.a.?

Evaluate
S ,

G) I(x2—4x+75)dx
0

=

@) I(J;+ e‘)dx.

0
Or
Differentiate the following with respect; to
G x*-8x*+4x+3
(i) x°+3logx-de®.

4 S.No. 1372
: [P.T.0]



18. (a) The following table givés aptitude test scores

and productivity indices of 8 randpmly
. selected workers : ~
Aptitude score : 57 58 59 59 60 61 62 64
Productivity index: 67 68 65 68 72 72 69 71
- Calculate the correlation co-efficient between
aptitude score and productivity index.

Or

‘(b) Compute the co-efficient of correlation

_between X-advertisement expenditure and
; Y-sales. ' _ .
<X: 10°12-'18 8 13 20 -22 155 17
Y: 88 90 94 86 87 92 96 94 88 85

19. (a) Whatistime series? Explain the uses of time

series.
Or
(b) Assuming no trend in the series, caiclu'late
seasonal indices for the following data :
‘ Quarter
Year I II I IV
1994 78 66 84 80
1995 76 74 82 78
1996« 72 68 80 70

1997 74 70 84 T4
1998 76 74 86 82

5 S.No. 1372

20. _ (a)

(b)

Explain the methods to estimate the secular

‘trend and method of seasonal variations.

Or

Explain the general problems in the
construction of Index numbers. :

6 $.Ne. 1372



(8 pages)

S.No. 1374 06 USTA 13

(For the candidates admitted from 2006—2007 onwards)

B.B.A. (CA) DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2011.

Second Semester
QUANTITATIVE TECHNIQUES — II
Time : Three hours Maximum : 100 marks

PART A — (10 x 2 = 20 marks)

Answer ALL the questions.

e

Define operation Research.

What are the models in OR?

What is meant by LPP?

What do you mean by the decision variables?
What are the methods of Transportation problem?
What is meant by Assignment problem? '
What do you mean by Zero-sum games?

What is meant by payoff matrix?

EDeRs T | en -~ cen SR ae RS

What is meant by network?

e
=

What is meant by Dummy activity?

1.,

12.

(a)

(b)

(a)

PART B — (5 x 4 = 20 marks)
Answer ALL the questions.

What are the characterics of OR?
Or

What are the different phases of operation
Research?

A company has three operational
departments (weaving processing and
packing) with capacity to produce 3 different
types of clothes namely suitings shirtings,
and woolens yielding a profit of Rs. 2, Rs. 4
and Rs. 3 per metre respectively. One metre
of suiting requires 3 minutes in weaving,
2 minutes in processing and 1 minute in
packing. Similarly one metre of shirting
requires 4 minutes in weaving 1 minute in
processing an 3 minutes in packing. One
metre of woollen requires 3 minutes in each
department. In a week, total run time of
each department is 60,40 and 80 hours for
weaving, processing and packing
respectively.

Formulate the linear programming problem
to find the product mix to maximize the
profit.

Or

2 S.No. 1374



13.

14.

(b)

(a)

(b)

(a)

Solve the following LPP graphically
maximize z = 2x, +4x, subject to

constraints. x; +2x, <5 and x;;x, >0
Xy +%; 4 .

Determine an initial basic feasible solution
to the following transportation problem
using North west corner method.

VR A S R SRS v 70

A s e [ SR 6

B 1 I o L 1

¢ 5 8 15 9 10

Demand 7 5. 3 1 17

Or
Solve the following assignment problem :

A B C
B oy SR
P by SRR e
S e T

Solve the game whose pay-off matrix is given
by

Player B
PlayerA [1 3-+=1
0 -4 -3
1. "5 =1
Or
3 S.No. 1374

15.

(b) Solve the following game and determine the
value of the game.

P2
o i T |
Sitid
(a) The following table gives the activities of a
construction project and duration.

Activites 1-2 1-3 24 25 45 56 6-7 37

Duration 2 2 3 4 0 6 0 8
(days)

Draw the network for the project and find critical
path.

Or
(b) The following information is given
1-2 23 24 85 46 56 57 67

Pessimistic 3 9 6= 8 0 & 8
Time

Activity

- Mostdikely | 33, [UBLANE VL6 T G o d e U

Time

Optimistic 3 3 2 4 4 0 3 2
Time

Draw the project network and find the expected
duration and variance of each activites.

4 S.No. 1374
[P.T.O.]

¥



16.

17.

(a)

(b)

(a)

(b)

PART C — (5 x 12 = 60 marks)
Answer ALL the questions.

Discuss the advantages of OR studes
approach in decision making.

Or

Explain the opportunities and short comings
of operations resedrch.

Solve the following LPP graphically.
Maximize z = 5x; +3x,
Subject to constrains
3x, +5x, <16
by + 24,0
S B
Or
Use graphical method to solve the LPP.
Minimize z = —6x, —4x,
Subject to constrances
2x; +3x, =2 30
3x; +2x, <24

2% =0

5 S.No. 1374

18. (a) Determine an optimum solution to the
following transportation problem. :

Factors wl

F1 23

F2 | 12

F3 22
Demand 22

(b) Determine

problem.

85
90
75
80
76

(41 JRR ¥ ~ S o I o T

Warehouse

w2 w3 w4 Capacity

27
17
28
35

10
20
12
25

Or

the

schedule for the following assignment

75
78

66

72
64

65
66
57
60

56

18
51
32
41

125
132
114
120
112

optimum

75
78
69
72
68

30
40
53

assignment

S.No. 1374



19. (a) Solve the following 2x4 game graphically.

Player B
Player A Bl B2 B3 B4
Al |2 1 0 -2 ]
A2 [1 0 3 2
Or
(b) Solve the following game.
Y-

X(4 1
N
20. (a)

Task 1-2 1-3 14 2-5 3-4 3-7T 45 4-6

Normal 20 8 23 19 16 24 0 18
Time

Task 5-6 5-7 6-8
Normal Time 0 4 10

" Draw the network diagram. calculate critical path
and expected project duration.

Or

7 S.No. 1374

(b) A project schedule has the following

characteristics?

JOP to tm tp

SN B B
16 260
23 2 14 26
24 b 8
850 7.r 10 19
A5 B B
67 5 8 99
5.8 908
3 .

1-8 581 7w 39

Find the critical path, and the probability to
complete the project with in 40 days.

8- i S.No. 1374
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Time : Three hours

(6 pages)

08 UBX 03

(For the candidates admitted from 2008-2009 onwards)

B.B.A.(CA) DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2011.

Second Semester
ORGANISATIONAL PSYCHOLOGY
Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.
Mention any two characteristics of organisation.
finesansfen gGagnd @) 2ibsmismand GHINHS.
Define ‘Personality’.

F{@HEDLD GTEITLIGENEST GUEN LI,

‘What are the different levels of understanding

human behaviour?

weflgt pLsamgeaws updl yflbg Qarareudler LoGeaum
Hlevasar wiraeu?

10.

What do you mean by group dynamics?
G QWEsID eremmTed ereman?
Define ‘Morale’.

QW YTEID GTEITLISENET CUEDTILIM.

‘What are the individual coping strategies for

stress? :

e 2Psss®s cHi@areTenn eNgorer seaflput
Fnihs 2 SHadT wrenas? '
What are the factors of good work enviro_riment?

pove uailé Gaisarear sryeaflset wrenes?

What is the importance of design of work places?
vefllfuseflen  augeamwinlpsrar  apsflubged
wg|?

What are the internal factors of organisational
change? i

Bmeuen wrHmsHDenet assTreanilser wrene?

What are the functions of counselling?

o Gonsemen auipmiisaiien QFuILIML &6 wrena?

2 S:No. 1244



11.

12

(a)

(b)

(a)

(b)

SECTION B — (5 x 5 = 25 marks)
Answer ALL questions.

Explain the neo-classical theory of

organisation.

Byeuand GHlss ydw wrys Csmiumigeen
eflauil.

Or
lExpla'in ~the scope of organisational
psychology.
Ao 2erefualan  LweTLm GULTies
efleurl.

Explain the determinants of personality.

e Srorafissid strafisamar edleufl.

Or
Explain the causes of group formation.

G 2-(HeuneusHETen Snerhisamer cilaufl.

3 S.No. 1244

13.

14.

(a)

()

(a)

(b)

Explain the methods used to measure

morale.
Qewed yieugens eThs 2 Fad WPDDSDET
efleurl.

Or
Explain the organisational factors of job
satisfaction.
uenfl uiflssrer Ameuend srihs sryeiaaman
cfleurl.

Explain the importance of good hodse

keeping practices.

i) ugmofliyg Qawidapenpasafian
Wp&fuidgicusms efleuf. :
Or
Explain the important  findings of
Hawthorne experiments.
QTGS Test ufiGergenenaeaflen Qpdi
searHllgLiysamer afleud.
4 S.No. 1244

[P.T.O.]



15.

16.

17.

=18

(a) Explain the causes of organisational éhange.

Blmeuen wrHnsHnsren sryenilsamer efleul.

Or
(b)  Who can do counselling in the organisation?
Why?
Bmeuangdled wr@reemb 2 Camsenan

euQiéJa;mmb? 66 ?
SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

Explain the various disciplines contributing to the
field of organisational behaviour.

Blmieuen BLens @uigidE unsaliiy Qadub udGay
FienmEHen 6T a‘ﬂm&@a&.
Explain the determinants of individual behaviour.

saflpui BLsemsemw Siorallagb smyefsmar elauf].

‘Explain the various methods of managing stress.

e Di(pssHmH mawndrauden LGy pemsemen

cflené G s.

5 S.No. 1244

19.

20.

Explain the various steps involved in Hawthorne
experiments.

anngsren LflGergameansetian LG Lgsmer eflaurl.

Explain the various types of counselling.

g Cangaman auipmisedern LG auessae allauf.

6 S.No. 1244



S.No. 1368 06 UBA 03/
B 06 UBX 03

(For the candidates admitted from 2006-2007 onwards)

B.B.A./B.B.A.(CA). DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2011.

Second Sefnester
PRINCIPLES AND PRACTICES OF MANAGEMENT
Time : Three hours Maximum : 100 marks
PARPA—(10x2=20 marks) |
Answer ALL questions.

Answer to each questions should not exceed 6 lines.
1.  Define the term management.
2.  What is unity of comment?
3.  What is planning?
4 Exf»lain the term ‘Decision Making’.
5. - Define organisation.
6 What is span of control?
7. Define motivation.

8. Define controlling.




10.

11.

12.

13.

14..

15.

What do you mean by administration.

Define the term communication.

(a)

(b)
(a)

(b)
(a)

(b)
(a)

(b)
(a)

(b)

PART B — (5 x 4 = 20 marks)
Answer ALL questions.

Explain briefly about the functions of
management.

Or
Management is science or art? Discuss.
Explain the concept of decision making.
Or
What is human resource planning?
Explain the types of centralisation.
Or
What is departmentation?
What are the techniques of motivation?
Or
Explain the major types of controlling.
Discuss the various types of motivation.
Or

Describe the scope of the controlling.

2 S.No. 1368

16.

7

18.

Thay

20.

(a)

(b)

(a)

(b
(a)
(b)
(a)

(b)

(a)

(b)

PART C — (5 x 12 = 60 marks)

Answer ALL questions.

What are the various responsibilities of
managers in effective management?

Or
Critically analysis the evolution of
management thoughts.
Sketch relationship between planning and
controlling.

Or
Explain the model of communication
process.
Write a note on ‘MBO'.

Or
Discuss the difference between the formal

and informal organisation.

Explain briefly about the span of control.
Or

Explain the following management theory

(i) X Theory

(i1) Y Theory.

Explain the steps in control process.
Or

Describe the functions of administration.

3 S.No. 1368



S.No. 8404 A |08 UBAE 01

(For the candidates admitted from 2008-2009 onwards) -

B.B.A. DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2011.

Second Semester
BUSINESS ENVIRONMENT
(Common for Elective Course)
Tifne : Three hours : : Maximum : 75 marks
SECTION A — (10 X 2= 20 marks)
Answer ALL the questions.

Answer to each question shall not exceed 6 lines.
i Deﬁner macro environment.
2.  State the components of economic.environﬁxent.
3 Definer culture.
4.  Mention the features of caste system.
5.  Define migration.

6. What is business ethics?



7. What do you m'ean by import of technology?
8.  State the objectives of industrial licensing policsz.
9.  Define capitalism.
10. Mention any two achievements of public sector.
SECTION B — (5 X 5 = 25 marks)
Answer ALL the questions.

Answer to each question shall not exceed 3 pages.

11. (a) Explain interﬁational environment.

Or

(b) Explain economic environment.
12. (a) Define joint family and explain its features.

Or

(b) Discuss any four negative impact of foreign
culture.

13. (a) Discuss urbanisation.

Or

(b) Explain any five unethical practices being
followed in business.

£ S.No. 8404 A

14,

15.

LG

17.

18.

19,

20.

(a) Discuss the importance of technology.

Or

(b) Explain about industrial licensing.

(a) Explain the role of private sector in Indian
economy.

Or
(b) Discuss the features of mixed economy.
SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

Answer to each question shall not exceed 6 pages.

Discuss about :
(a) Demographic environment

(b) Socio-cultural environment.
Explain change and resistance to change.

Explain social responsibilities of business towards
consumers and Government.

Explain state regulations on business. "

Discuss the features, merits and demerits of
capitalism. '
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17.

18.

19.

20.

Discués the elements of project formulation.

Explain the role of commercial banks in
entrepreneurial development.

Explain the causes of sickness.

Discuss the functions of District Industries
Centre.
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(For the candidates admitted from 2008-2009 onwards) |

B.B.A. DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2011.

Second Semester
Elective Course
ENTREPRENEURIAL DEVELOPMENT
Time : Three hours . Maximum : 75 marks
SECTION A — (10 x 2= 20 mérks)
Anéwer ALL the queétion.s.

Answer to each question shall not exceed 6 lines.

1. Who are intrapreneurs?

2. State the various phases of an EDP.

3. Definea project.

4. Mention the types of business opportunities.




5.  Describe institutional finance by LIC.

6.  What is TIIC?

7.  Define a sick unit.

8.  Define small scale industry.

9.  Explain about SIDCO.

10. Who are women en-trepreneurs?r

SECTION B — (5 x 5 = 25 marks)
Answer ALL the questions. |
Answer to each question shall not exceed 3 pages.
11. (a) Discuss the types of entrepreneurs.
. l Or .

(b) Analyse the environmental factors affecting
entrepreneurial development.

12. (a) Explain project classification.
Or

(b) ‘Explain briefly PERT and CPM.

2 S.No. 8399 A

13. (a) Discuss the functions of IRCI.

Or
(b) Discuss the functions of SIDBI.

14. (a) What are incentives? Explain the problems
asseclated wzth incentives.

Or

(b) Explain the incentives available for
development of industries in backward
areas. ; :

156. (a) Discuss the role of technical consultancy
organisations.

Or :
-(b) - Explain the problems and prespects of
entrepreneurs ;

SECTION C — (3 x 10 =30 marks)
Answer any THREE questions.

Answer to each question shall not exceed 6 pages.

16. Analyse the role of entrepreneurs in economic
development.

Gt S.No. 8399 A



10. Find correlation coefficient using Karl Pearson’s
coefficient of correlation method

X aftioialig e s B 13 1200099 A BT
Y: 8 90 94 86 87 92 96 94 88 85

11. Find for what values of x the following expression
is maximum and maximum respectively

2x% - 21x*+ 36x - 20

Find also the maximum and minimum values.

4 S.No. 4564
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(For the candidates admitted from 2003-2004 onwards)

B.B.A. DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2011,

Second Semester

Allied —- BUSINESS MATHEMATICS AND
STATISTICS - 11

Time : Three hours Maximum : 100 marks

SECTION A — (10 x 3 = 30 marks)
Answer ALL questions.

1. (a) Find the simple interest on the sum of
Rs. 6,000 at 10% for 3 years.

() Find the sum of money that yields a
compound interest of Rs. 432 at 8% p.a.
during the second year.

3

() Byalhate L iiie

x>l 2x° +b5x +3

(d) Ewvaluate J-x”zdx.

(e) What are the types of correlation?



) 9X-3Y=165 and 3X-4Y =40 are the

regression equations of X and Y. Find X
and e

(2) What are the components of time series "

analysis?

(h) What are the merits of graphic method?

(i) What are the uses of index number?

()  Write Fisher’s formula. Why it is called ideal
index number formula?
SECTION B — (5 x 6 = 30 marks)

Answer any FIVE questions.

A sum of money invested at compound interest
‘amounts to Rs. 21, 632.00 in 2 years and
Rs. 22, 497.28 in 3 years. Find the rate of interest
and the sum invested.

" Integrate xlogx.w.r. to x.

R ‘ d x2+1
Find E[loge[xz _1)}. |

What is rank correlation?
X: b0 60 65 70 75 40 70 80

Y80 1060 7380,,82¢ 70 150

2 | S.No. 4564

6. Fit a straight line trend.to the following time
series

Year: 1990 1991 1992 1993 1994 1995
Production: 72 7it5] 74 78 83 82

7. Compute cost of living index number

Items : Food Fuel Clothing Rent Others
Index number: 352 220 230 1604190
Weights 48 10 8 12 15

8.  Write the properties of regression lines and
coefficients.

SECTION C — (2 x 20 = 40 marks)

- Answer any TWO questions.

9.  From the data given below, find

(a) the two regression equations

(b) the coefficient of correlation between X and
9 .

XA 2650 B8 135 3B 36 99 ag g g0

Y: 43 46 49 41 36 32 31 30 33 39

3 S.No. 4564



18.

19.

20.

(a)

(b)

(a)

(b)

(a)

(b)

How is job satisfaction measured? Discuss.

Or

Discuss the methods available for the
measurement of morale of employees.

What factors would you consider as essential
to good working environment?

Or

A good factory layout enhances the
productivity of a worker — discuss.

Explain the measures that can be adopted to
overcome resistance by employees.

Or

Discuss the different types of counselling.

4 S.No. 1365
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(For the candidates admitted from 2008-2007 onwards)

B.B.A./B.B.A. (CA) DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2011.

Second and Fourth Semester
ORGANISATIONAL PSYCHOLOGY

Time : Three hours Maximum : 100 marks

PART A — (10 x 2 = 20 marks)

Answer ALL questions.
Answer to each question shall not exceed 6 lines.

1.  Define organisational behaviour.
2. What is meant by Abstract thedry?
3. Writea sho?t note on locus of control.
4.  Define group dynamics.
5.  What is morale?
6. Where does stress come from?

7.  Define work environment.




10.

14

12,

13.

What do you mean by motivation?

What is meant by organisational change?

Define counselling,

(a)

(b)

(a)

(b)

(a)

(b)

PART B — (5 x 4 = 20 marks)

Answer ALL questions.
Explain the theory of ~administrative
management.
Or

Distinguish between formal and informal
groups.
In your own words, what is an attitude?

Or
Write short note on group cohesion.
How does job satisfaction affect the
employee's productivity?

Or

list a few benefits of morale in an

ogranisation.
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14. (a)

(b)

I5 v (a)

(b)

: orgamsatlon"

Explain the importance of Hawthorne
experiments.

Or

Explain the importance of good house
keeping practices in industries.

Distinguish between reactive change and
proactive change.

Or

What are the needs for counsellmg in

PART C — (5 x 12 = 60 marks)

Answer ALL questions.

Answer to each question shall not exceed 5 pages

16. (a)

)

17 Aa)

(b)

What are ~ the various elements of
neoclassical organisation theory?

- Or

Explain the nature of individual differences
and their biological and environmental
determinants.

What are the major factors which shape the
personality of an individual?

Or

How does the influence of membership in an
informal group affect the attainment of
organisational objectives?
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18.
19+

20.

What are the ten categories of functions available
in Excel? Explain any four with an example.

Explain briefly about any ten slide layouts in
Power Point.

What are the various field properties during the
design of a table in Access? Explain.

4 S.No. 8413 A
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(For the candidates admitted from 2008—2009 onwards)

B.B.A. (CA) DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2011.

Second Semester
OPERATING SYSTEM AND OFFICE AUTOMATION
Time : Three hours ' Musiniun 75 marks
- SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.

1. What are the three responsibilities of the
operating system in connection with 'disk
management? '

2.  What do you mean by an operating system?

3. Write down the steps used for starting word
through the start button. ;

4. Differentiate between Undo and Redo buttons in
Word.

5. What are the two combo boxes in the formatting

tool bar in Excel?



10.

Ll

12.

What do you mean by a cell in Excel?

List the four text alignment option buttons in the

formatting tool bar of Power Point Window.

Why, the spell checker is not giving spelling error
alert while using Word Art?

Expand GUID and VBE.
How to sort the data in a Data Sheet?,

SECTION B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a) Explairi the various Memory management
functions.
Or
(b) . Explain the following :
(i) Multiprogramming.
(ii)) Address space.

(a) What are the four tool bars available at the

top of the word screen? Explain.

Or

(b) What are the various Auto text options
available for Headers and Footers? Explain
any five.

2 S.No. 8413 A

13.

14.

15,

16.

17

() How to copy data with drag-and-drop?
Explain.

Or

(b) What are the various number style format.
options in the formatting tool bar? Explain.

(a) What are the four options available to start a
presentation? Explain.

Or

(b) Explain the steps used for creating a table
from the tool bar.

(a) Describe the uses of Macros in Access.

Or

(b) How to sort and filter the data in Access?
Explain.

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

Describe the various components of an operating
system. ' '

List and explain any ten buttons on the Tables
and Borders toolbar in Word.
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(For the candidates admitted from 2008—2009 onwards)

B.B.A. DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2011.

Second Semester
ORGANISATIONAL PSYCHOLOGY
Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)

Answer ALL questions. .
Why we need to study organisational psychology?
What is meant by group dynamics? L
List the qualities of an extrovert.
Reference Groups — Define.
What is occupational stress?
List the symptoms of good morale.
What is meant by 'Referent Power'?

Acceptance Authority — Define.

SRER00 S EEN G G e S S b T e

What is counselling?

[y
=4

What is meant by 'unfreezing/ in change?



1%

12.

13.

14,

15.

(a)
(b)
(a)

(b)
(a)

(b)

(a)

(b)

(a)

(b)

SECTION B — (5 x 5 = 25 marks)
Answer ALL questions.
Answer should not exceed 3 pages.

Write a note on contingency theory of
authority.

Or

Explain the constructive role of conflicts.

Discuss the functions of attitudes.

Or
What factors affect group cohesiveness?
Brief the qualities of stress.

Or

Explain the factors that determine job
satisfaction. )

Distinguish 'Authority' and 'Power'.
Or

Discuss the sources of authority.

Elaborate the factors causing change.
Or

Elucidate the counselling process.

gl 0 S.No. 8469 A

16.

17.

18.

19.

20.

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.
Answer should not exceed 6 pages.

Detail the
behaviour.

factors affecting organisational

State how a group is formed and theories of group
formation.

Explain the factors affecting morale and methods
to improve morale.

- Elucidate the findings of Hawthorne studies and

their relevance in the modern management era.

Elaborate the need for counselling and types of
counselling.
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